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[[:%iva BHEES g 79h | 4Y |GROSS| HDCP | NET
B B WAt EX 43 46] 89| 20.5 68.5
28 ®XF &F 44] 45/ 89| 18.5 70.5
M (O BA 48] 46| 94| 22.7 T1.3
M [HE FX 42| 43| 85/ 13.5 71.5
5 |HF EX A1 46| 87| 15.5 71.5
6 mik #LE 47 41| 88| 15.5 72.5
6 [l Ea 44 46] 90 16.9] 73.1
86 =K MR 47 43| 90 16.5 73.5
o EE EE 44 51| 95/ 21.5 73.5
1062 [ Kk =& 50 46| 96| 21.5 74.5
1 BFO0 FA 45 50| 95/ 20.5 74.5
1261 BT & A7 41| 88 12.5 75.5
136 RS EH 50/ 55| 105/ 28.5 76.5
145 F2 * 45 51| 96| 19.5 76.5
1561 |hi  FH 46| 44 90| 12.5 71.5
166 |/t S 2E 50/ 56| 106 27.7 78.3
176 RE FA 53| 50| 103 24.5 78.5
1861 [[EK BE 50/ 48] 98] 19.5 78.5
196 ke FE 45 50| 95/ 16.5 78.5
2061 |[&1&E BRH 45 52| 97 18.5 78.5
2161 [HE & 42| 54| 96 17.5 78.5
261 [Ax/K Bz 47 53] 100 20.9] 79.1
2361 [BR =EXER 45/ 53] 98] 18.9] 79.1
2461 [IrEH BRI 49| 54| 103 23.5 79.5
2561 | KIE & 44 53] 97/ 17.5 79.5
2641 e 46] 54| 100/ 19.7 80.3
27161 | &EE KA 47 52| 99| 18.5 80.5
2861 [fIL AT 46] 51| 97/ 16.5 80.5
2961 [FI = 45| 55/ 100/ 19.5 80.5
306L [k EH 53] 46| 99 17.9| 81.1
G |FA EH 52| 47 99 17.9] 81.1
326 M Rz 60| 42| 102 19.7 82.3
36L [/NE  HMiE 56/ 48| 104 21.7 82.3
ML [BH FE 47 48] 95/ 12.5] 82.5
3L [ B 43 52| 95/ 11.8] 83.2
366 [1EF BE 51 53] 104 19.7 84.3
376 [\NE EF 53] 56/ 109 23.3] 85.7
/L [F BHE 51 57| 108] 20.7 87.3
396 [IMAK R# 52| 51| 103] 14.7 88.3
406 [HAE E—E 62| 56| 118 25.5 92.5
N & =B 56/ 63| 119 25.5 93.5
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